PD19
Three Shelf In/Out Display
Assembly Instructions

Kit Contains:

2-sides 21-3/4x49”

1-top shelf 12-1/4”x46”
1-middle shelf 16-1/2”x46”
1-bottom shelf 22”x46”
2-back boards 3-1/27x48”
1-header

4-shelf supports

26-1-5/8” screws

4-2” screws

Step 1: Stand the sides upright about 48” apart. Place the largest shelf with the face-
board in the front onto the bottom cleats of the right and left side units. Keep the front of
the shelf flush with the front of the side units. Fasten with four 1-5/8” screws per side
into the predrilled holes of the shelf.

Step 2: Place the top shelf onto the top set of cleats and fasten with the three 1-5/8”
screws into the pre-drilled holes in the shelf.

Step 3: The middle shelf is adjustable. Insert the shelf clips where you want the shelf.

Step 4: Position the header board behind the top shelf and lined up with the back of the
unit. Fasten with two 1-5/8” screws per side into the predrilled holes in the header and
into the back of the sides.

Step 5: Place the back braces on the back of the unit equal distance between each of the
shelves and fasten with two 1-5/8” screws per side into the pre-drilled holes in the braces
and into the sides.

Step 6: Insert two 2” screws per side into the predrilled holes in the side units and into
the top and bottom shelves.

For questions or ordering information contact
Bench Systems customer service at 1-888-881-3081.
www.benchsystems.com




